|| FRHARAANN (AZF) RF=D/ T=TIHYL X T70X70

System
Manual Swivel (Tilt) Stages / Table Size 70xX70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

STO7A-S1T STO7A-S1B STO7A-S1S
STO7A-S1M STO7A-S1L

[ElEn

Rotation

@ STO7A-S1T ég

40 Clamp $15
30

(1255)

o=

e ©
?\g’*—ﬁ‘;“ & MM A\

8M3 Depth 6mm N

Motorized

2
Stage 4-M4 Depth 5mm ®)
- e

0
60
40
30

X-XY *
X=XY $

Micrometer Head

Fany

QJ
| @ STO7A-S1M @ STO7A-S1B
iRotation Center 1 N Rotation Center i N Rotation Center

(21.5)

[ElEA

Rotation

70
96

122

ZAN)L
(I=#)
Swivel
(Tilt)

= [ 160 4-for M4 screws
Z;]{ Shaft Length 4mm
25—
XYe

Bz PO
;7—-_:)‘ ‘ STO7A-S1S [ 160 \4-for M4 screws

Vacuum Micrometer Head Shaft Length 5mm
Stage

26

26

1\4-for M4 screws
Shaft Length 5mm

26

Micrometer Head

HIHEE
Control
Electron-
ics

(21.5)

R
&

\ \ \ (126.5)

©
&

$5 Depth 7mm

i
©
4

tT5—-
avhk0-5
Motor
Controller

NEZ A e

Ry IR (i5] =ij = ‘j
Driver
B >

o 30 Clamp ®15

77U gg
:;J;I;Jc: 7 (125) 70 (21.5)
tion @ STO7A-S1L
== “[\_Rotation center ~\_Rotation Center
RSA4N
Motor

Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

60
40
30

8-M3 Depth 6mm

4-M4 Depth 5mm

faml
&
&

(125)

70
96

26

26

:

o o
=0 ™ o 3»
Liede OER
T T

7ot 60 4-for M4 screws e
YU— = Shaft Length 5mm s {3@”@
Accesso- il I
ries 160 \4-for M4 screws
Shaft Length 5mm

26

(i

RE
VAT I
Inspection
System

G-026 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



7h3/40AQ=F744 K / 94 70X=44%4 ML Bl

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

e STO7A-S1T STO7A-S1M STO7A-S1B STO7A-S1S 31 STO7A-S1L %2
Model Number
 BFEOER STO7A-S1TR STO7A-STM-R STO7A-S1B-R STO7A-S1S-RRR STO7A-S1L-RRR
Mirror Model Number
F—7)E
Table Size [
ESopsk-o HBREI/OZAO—FH/R
Guide Mechanism Cross-Roller Guide
|25 EE B

Angular Range

+3°

V=T AAREY A

4+
Work Distance 7Omm=0:2mm

96mm=0.2mm

122mm=0.2mm

70mm=0.4mm

96mm=0.4mm

ElERh DR R . .
Rotation Center Error ©0.05mm/+3 ®0.1mm/£3
x/NEFRAERY) —
Minimum Readout
~ 0.0069°/E8% (S1T) ~ 0.0053°/B8% (S1M)
Bl ~ 0.0069°/B8% ~ 0.0053°/B8% ~ 0.0042°/H% ~ 0.0053°/B%% (S1M) | =~ 0.0042°/BE%(S1B)

Angular Motion 2 0.0069°/div ~ 0.0053°/div

~ 0.0042°/div

~ 0.0069°/div (S1T)

~ 0.0053°/div (S1M)

2 0.0053°/div (S1M)
~ 0.0042°/div (S1B)

FE— XA . .
Moment Load Stiffness 0.09 arcsec/N-cm 0.28 arcsec/N-cm
IKFMHFE
Load Capacity (Horizontal) 49N (Skef) 44.1N (4.5kgf)
wE TIIE
Material Aluminum Alloy
S e e
Finish Clear-Matt Anodizing
BHE
Weight 0.52kg 1.04kg
ExE) A YA TOX—ZAYR (25mm)
Actuator Micrometer (25mm)
V=20V ZERRELI
Clean Room Lubricant Model Number STO7A-S1T-C STO7A-S1M-C STO7A-S1B-C STO7A-S1S-C STO7A-S1L-C
g
"§7.U11ﬂ§¥ﬁ STO7A-S1T-V STO7A-S1M-V STO7A-S1B-V STO7A-S1S-V STO7A-S1L-V
Vacuum Lubricant Model Number

STO7A-S1Sl&. STO7A-S1TESTO7A-SIMOEAEHETTY,
Combination of STO7A-S1T and STO7A-S1M form 2-axes swivel stage model
STO7A-S1S.

STO7A-S1LI&. STO7A-SIMESTO7A-S1BOEARHLETT .
Combination of STO7A-S1M and STO7A-S1B form 2-axes swivel stage model
STO7A-S1L.

o F—N—R—IBICZEBHRIIEENEEA. FHICOVTHIIEN-D%S
BLTREWD (470X =ZAY REA—N—FR—IMRAEBVET) .
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul).

U= AEHROBKIEKREIC “-C” PHEXT, FHMICDLTIZC-003
RN=U%BRULTTEL.

Clean room lubricant model has “-C” at the end of model number. Page C-003 for
further information.

o

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

3 BFEL. BROMBFICONTIHG-004N—JZBRLTFE,

Refer to page G-004 for Information on Standard and Mirror Symmetry

Configuration.

4 ATNIWAT—VBEQE—X > MAIRO—BIEE Y £T,
Moment Stiffness of single Swivel stage is measured in Roll Direction.

B2 ZHHROBRIEKEIC -V PRHEFT.

TEBRLTTEL,

FHBIC DL TIEC-003N—

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information.

BERDCEZICKVRROYEL AN ET .
FLLREEBETHRVEDET X,

We appreciate the product customizing. Contact us for further information.
7Y VIZDWTIFO-001R—=2 BB L TR,

Refer to page 0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FHER

27—

Manual
Stage
X-XY
X-XY

NN

[ElEn

Rotation

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

G-027



